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	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	D  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.Inq.1 Investigate [99044]
	D57210

	2
	C  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.Inq.1 Investigate [99044]
	D103779

	3
	D  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.T/E.1 Select Technology [99045]
	D109880

	4
	C  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.T/E.2: Technology Development [99046]
	D104442

	5
	D  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.4.1 Inherited Traits [99054]
	U55628

	6
	D  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.4.1 Inherited Traits [99054]
	D103361

	7
	A  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.4.1 Inherited Traits [99054]
	D103355

	8
	B  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.1 Nutritional Relationships [99049]
	U55766

	9
	B  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.1 Nutritional Relationships [99049]
	U55764

	10
	D  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.2 Symbiosis [99050]
	U55840

	11
	C  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.3 Impact of Humans or Natural Events [99051]
	U55855

	12
	C  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.5.1 Adaptations [99056]
	U55900

	13
	B  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.5.1 Adaptations [99056]
	U55845

	14
	B  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0507.6.1 Characteristics of Planets [99058]
	U55799

	15
	D  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0507.7.1 Earth's Internal Forces [99061]
	U55704

	16
	A  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0507.7.1 Earth's Internal Forces [99061]
	U55374

	17
	D  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0507.9.1 Physical vs. Chemical Properties [99064]
	D109958

	18
	A  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0507.9.2 Change of State [99065]
	U55200

	19
	C  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0507.10.1 Potential vs Kinetic [99067]
	U55585

	20
	B  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0507.10.1 Potential vs Kinetic [99067]
	D103451

	21
	D  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0507.10.1 Potential vs Kinetic [99067]
	D103453

	22
	A  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0507.10.2 Heat Transfer [99068]
	U55516

	23
	D  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.11.1 Mass / Force / Distance [99069]
	D109929

	24
	D  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.11.1 Mass / Force / Distance [99069]
	D109901

	25
	A  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.1 Earth's Attraction [99070]
	U55798

	26
	C  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.2 Gravity [99071]
	D62349

	27
	D  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.2 Gravity [99071]
	D66512

	28
	C  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0507.10.2 Heat Transfer [99068]
	D85372

	29
	A  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0507.10.2 Heat Transfer [99068]
	D84242

	30
	B  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.11.1 Mass / Force / Distance [99069]
	D85626

	31
	B  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.1 Earth's Attraction [99070]
	U55569

	32
	B  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.1 Earth's Attraction [99070]
	U55865

	33
	D  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.1 Earth's Attraction [99070]
	U55895

	34
	B  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.1 Earth's Attraction [99070]
	D109952

	35
	C  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.1 Earth's Attraction [99070]
	D109953

	36
	C  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.1 Nutritional Relationships [99049]
	U55829

	37
	C  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.2 Symbiosis [99050]
	U55767

	38
	C  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.5.1 Adaptations [99056]
	U55774

	39
	C  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0507.6.1 Characteristics of Planets [99058]
	U55800

	40
	B  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0507.9.2 Change of State [99065]
	U55421

	41
	D  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.3 Impact of Humans or Natural Events [99051]
	U55856

	42
	B  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0507.6.1 Characteristics of Planets [99058]
	U55894

	43
	A  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0507.9.2 Change of State [99065]
	U55345

	44
	B  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.Inq.1 Investigate [99044]
	D103782

	45
	D  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.Inq.1 Investigate [99044]
	D104246

	46
	A  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.Inq.1 Investigate [99044]
	D104570

	47
	D  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.1 Nutritional Relationships [99049]
	U55832

	48
	C  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.1 Nutritional Relationships [99049]
	U55836

	49
	C  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.1 Nutritional Relationships [99049]
	D105439

	50
	A  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.1 Nutritional Relationships [99049]
	D103774
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	Question 1 of 50

	Based upon the chart, what type of weather would you expect on Thursday and Friday? 
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	A.
	cloudy
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	B.
	unusually hot
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	C.
	sunny

	[image: image5.wmf]  
	D.
	stormy
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	Scientific Question 

Does colored print affect the fluency level of children ages 7 to 11?

	 

	Which of the following test pools would yield fair and accurate scientific data for the question above?

	 
	 
	 
	 
	 

	[image: image6.wmf]  
	A.
	testing third grade boys and girls by recording their oral reading of text written in black, red, and blue ink 

	[image: image7.wmf]  
	B.
	testing girls ages 7 to 11 by recording their oral reading of text written in black, red, and blue ink

	[image: image8.wmf]  
	C.
	testing boys and girls ages 7 to 11 by recording their oral reading of text written in black, red, and blue ink
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	D.
	testing boys ages 7 to 11 by recording their oral reading of text written in black, red, and blue ink
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	Which scientist first explained how a prism breaks white light into a rainbow of colors in his book about optics?

	 
	 
	 
	 
	 

	[image: image10.wmf]  
	A.
	Albert Einstein

	[image: image11.wmf]  
	B.
	Leonardo DaVinci

	[image: image12.wmf]  
	C.
	John Glenn

	[image: image13.wmf]  
	D.
	Isaac Newton
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	A new company that manufactures chemical fertilizers is being built. 

Which of the following would not be a concern of the surrounding community?

	 
	 
	 
	 
	 

	[image: image14.wmf]  
	A.
	the potential harm to the environment from the chemicals being used

	[image: image15.wmf]  
	B.
	the route that the chemicals are transported through the neighborhood to other destinations

	[image: image16.wmf]  
	C.
	the cost of the chemicals and the price of the fertilizer
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	D.
	the safety features inside the factory to avoid accidents with the chemicals
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	Which of these is not an inherited trait? 

	 
	 
	 
	 
	 

	[image: image18.wmf]  
	A.
	eye color 

	[image: image19.wmf]  
	B.
	hair color 

	[image: image20.wmf]  
	C.
	body size 

	[image: image21.wmf]  
	D.
	reading speed 
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	What is the name of the genetic building blocks that are passed onto an offspring from their parents?

	 
	 
	 
	 
	 

	[image: image22.wmf]  
	A.
	atoms

	[image: image23.wmf]  
	B.
	STB

	[image: image24.wmf]  
	C.
	protons

	[image: image25.wmf]  
	D.
	DNA
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	How are physical traits passed from parent to offspring?

	 
	 
	 
	 
	 

	[image: image26.wmf]  
	A.
	An offspring receives 23 chromosomes from each parent during reproduction.

	[image: image27.wmf]  
	B.
	An offspring receives all physical traits from the father during reproduction.

	[image: image28.wmf]  
	C.
	An offspring receives all physical traits from the mother during reproduction.

	[image: image29.wmf]  
	D.
	An offspring does not receive any traits from its parents during reproduction
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A population of birds that eat seeds move in to the area. Which populations are most likely to compete for food sources with the population of seed eating birds? 
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	A.
	Flowering plant and hawk 

	[image: image32.wmf]  
	B.
	Mice and squirrel 

	[image: image33.wmf]  
	C.
	Grouse and H 

	[image: image34.wmf]  
	D.
	Fox and hawk 
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The fox population drastically decreased due to over hunting, what is most likely to happen as a result of the decrease in the number of foxes in the area? 

	 
	 
	 
	 
	 

	[image: image36.wmf]  
	A.
	The amount of carbon dioxide in the air will increase. 

	[image: image37.wmf]  
	B.
	The amount of producers will decrease. 

	[image: image38.wmf]  
	C.
	The grouse population will decrease. 

	[image: image39.wmf]  
	D.
	The amount of soil nutrients will increase. 
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	Hook worms are parasites that can attach to the skin with tiny hooks around their mouth. Which of the following makes the hookworm a parasite? 

	 
	 
	 
	 
	 

	[image: image40.wmf]  
	A.
	Hookworms can only live if they find a host. 

	[image: image41.wmf]  
	B.
	Hookworms live in the muscle cells of their host. 

	[image: image42.wmf]  
	C.
	Hookworms get nutrients from their host. 

	[image: image43.wmf]  
	D.
	Hookworms cause harm to their host. 
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	Which of the following would most likely cause the mass extinction of organisms in an ecosystem? 

	 
	 
	 
	 
	 

	[image: image44.wmf]  
	A.
	flood 

	[image: image45.wmf]  
	B.
	earthquake 

	[image: image46.wmf]  
	C.
	climate change 

	[image: image47.wmf]  
	D.
	mountain formation 
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	Which of these adaptations would best help the arctic hare survive in winter? 

	 
	 
	 
	 
	 

	[image: image48.wmf]  
	A.
	Its body temperature drops. 

	[image: image49.wmf]  
	B.
	It goes into a state of hibernation. 

	[image: image50.wmf]  
	C.
	Its fur changes from brown to white. 

	[image: image51.wmf]  
	D.
	Its paws are able to dig through snow to find food. 
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The shape of a duck's bill helps the duck to 
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	A.
	fly fast 

	[image: image54.wmf]  
	B.
	catch fish 

	[image: image55.wmf]  
	C.
	fight enemies 

	[image: image56.wmf]  
	D.
	swim easily 
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	Which of the following planets is a gas giant? 

	 
	 
	 
	 
	 

	[image: image57.wmf]  
	A.
	Mars 

	[image: image58.wmf]  
	B.
	Neptune 

	[image: image59.wmf]  
	C.
	Venus 

	[image: image60.wmf]  
	D.
	Mercury 
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	Scientists have hypothesized that the supercontinent of Pangaea broke apart because of ________ 
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	A.
	erosion. 

	[image: image62.wmf]  
	B.
	weathering. 

	[image: image63.wmf]  
	C.
	rock cycle. 

	[image: image64.wmf]  
	D.
	plate tectonics. 
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	Which is represented by the letter A in the diagram? 
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	[image: image66.wmf]  
	A.
	core 

	[image: image67.wmf]  
	B.
	crust 

	[image: image68.wmf]  
	C.
	mantle 

	[image: image69.wmf]  
	D.
	plate 
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	What is most paper made from?

	 
	 
	 
	 
	 

	[image: image70.wmf]  
	A.
	animals

	[image: image71.wmf]  
	B.
	water

	[image: image72.wmf]  
	C.
	rocks

	[image: image73.wmf]  
	D.
	plants
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	Which substance is formed when liquid water evaporates? 

	 
	 
	 
	 
	 

	[image: image74.wmf]  
	A.
	water vapor 

	[image: image75.wmf]  
	B.
	solid ice 

	[image: image76.wmf]  
	C.
	snow 

	[image: image77.wmf]  
	D.
	rain 
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	Which object has kinetic energy? 

	 
	 
	 
	 
	 

	[image: image78.wmf]  
	A.
	a tennis racket in the closet 

	[image: image79.wmf]  
	B.
	a book on a shelf 

	[image: image80.wmf]  
	C.
	a rolling skateboard 

	[image: image81.wmf]  
	D.
	a tall tree on a calm day 

	 


	Question 20 of 50

	A bobsled traveling down an inclined track is exerting what type of energy?

	 
	 
	 
	 
	 

	[image: image82.wmf]  
	A.
	potential energy

	[image: image83.wmf]  
	B.
	kinetic energy

	[image: image84.wmf]  
	C.
	chemical energy

	[image: image85.wmf]  
	D.
	electrical energy

	 


	Question 21 of 50

	Which of the following is not an example of kinetic energy at work?

	 
	 
	 
	 
	 

	[image: image86.wmf]  
	A.
	a bee's wings as it hovers above a flower.

	[image: image87.wmf]  
	B.
	windshield wipers on a car removing water from the glass.

	[image: image88.wmf]  
	C.
	water falling over a waterfall's ledge.

	[image: image89.wmf]  
	D.
	a battery in a flashlight that is off.
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	What causes snow to melt? 

	 
	 
	 
	 
	 

	[image: image90.wmf]  
	A.
	Heat moves into the snow. 

	[image: image91.wmf]  
	B.
	Water molecules break apart. 

	[image: image92.wmf]  
	C.
	Heat moves out of the snow. 

	[image: image93.wmf]  
	D.
	Water molecules change shape. 
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	Locations on Earth are defined by a set of coordinates. 

What are the names of these coordinates?

	 
	 
	 
	 
	 

	[image: image94.wmf]  
	A.
	wavelength and frequency

	[image: image95.wmf]  
	B.
	meter and kilometer

	[image: image96.wmf]  
	C.
	Fahrenheit and Celsius 

	[image: image97.wmf]  
	D.
	latitude and longitude
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	Jamal thinks his bike is very fast. A trip from his house to his cousin's house took only 15 minutes. 

What other information does Jamal need to figure out the average speed of his bike on the trip?

	 
	 
	 
	 
	 

	[image: image98.wmf]  
	A.
	the size of the wheels on his bike

	[image: image99.wmf]  
	B.
	the weight of the bike plus Jamal's weight

	[image: image100.wmf]  
	C.
	the amount of time it took Jamal to ride home from his cousin's house

	[image: image101.wmf]  
	D.
	the distance between Jamal's house and his cousin's house
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	Which of the following causes a paper airplane to fall towards the ground? 

	 
	 
	 
	 
	 

	[image: image102.wmf]  
	A.
	Gravity 

	[image: image103.wmf]  
	B.
	Air resistance 

	[image: image104.wmf]  
	C.
	Friction 

	[image: image105.wmf]  
	D.
	Magnetism 
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	Why would a satellite orbiting Earth most likely fall into the atmosphere?

	 
	 
	 
	 
	 

	[image: image106.wmf]  
	A.
	its batteries weakened

	[image: image107.wmf]  
	B.
	a collision with an asteroid

	[image: image108.wmf]  
	C.
	gravity's pull

	[image: image109.wmf]  
	D.
	contact with another satellite
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	What does gravity do to objects on Earth?

	 
	 
	 
	 
	 

	[image: image110.wmf]  
	A.
	Gravity gives objects on Earth mass.

	[image: image111.wmf]  
	B.
	Gravity causes objects on Earth to float.

	[image: image112.wmf]  
	C.
	Gravity creates colors.

	[image: image113.wmf]  
	D.
	Gravity pulls objects on Earth towards the surface.
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	Energy can be transferred by ____________.

	 
	 
	 
	 
	 

	[image: image114.wmf]  
	A.
	pushing on a brick wall

	[image: image115.wmf]  
	B.
	running in place

	[image: image116.wmf]  
	C.
	pushing a wheel barrow

	[image: image117.wmf]  
	D.
	standing on a chair
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	Solar cells produce __________ directly from sunlight.

	 
	 
	 
	 
	 

	[image: image118.wmf]  
	A.
	electricity

	[image: image119.wmf]  
	B.
	heat

	[image: image120.wmf]  
	C.
	light

	[image: image121.wmf]  
	D.
	chemicals
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	Newton's Second Law of Motion states that when you increase the __________, applied to an object, you will increase it's acceleration; and if you increase the __________ of an object, you increase the amount of force needed to accelerate or to slow down the object.

	 
	 
	 
	 
	 

	[image: image122.wmf]  
	A.
	speed, weight

	[image: image123.wmf]  
	B.
	force, mass

	[image: image124.wmf]  
	C.
	mass, weight

	[image: image125.wmf]  
	D.
	velocity, size
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	Which quantity is a measure the effect of gravity on an object? 

	 
	 
	 
	 
	 

	[image: image126.wmf]  
	A.
	mass 

	[image: image127.wmf]  
	B.
	weight 

	[image: image128.wmf]  
	C.
	velocity 

	[image: image129.wmf]  
	D.
	speed 
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	When rock bodies traveling through space pass near Earth, they are sometimes pulled into Earth's atmosphere. Which force causes this to occur? 

	 
	 
	 
	 
	 

	[image: image130.wmf]  
	A.
	magnetism 

	[image: image131.wmf]  
	B.
	gravity 

	[image: image132.wmf]  
	C.
	friction 

	[image: image133.wmf]  
	D.
	inertia 
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	Which of the following holds the moon in orbit around Earth? 

	 
	 
	 
	 
	 

	[image: image134.wmf]  
	A.
	inertia 

	[image: image135.wmf]  
	B.
	velocity 

	[image: image136.wmf]  
	C.
	acceleration 

	[image: image137.wmf]  
	D.
	gravity 
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	Which sentence is not a true description of the affect of Earth's gravity on objects?

	 
	 
	 
	 
	 

	[image: image138.wmf]  
	A.
	Only objects with mass are affected by Earth's gravity. 

	[image: image139.wmf]  
	B.
	Only objects that touch Earth are affected by Earth's gravity.

	[image: image140.wmf]  
	C.
	The farther away objects are from Earth, the less affected they are by Earth's gravity.

	[image: image141.wmf]  
	D.
	The closer objects are to Earth, the more affected they are by Earth's gravity.
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	Why does the Moon orbit Earth?

	 
	 
	 
	 
	 

	[image: image142.wmf]  
	A.
	There is mechanical attraction between the mass of Earth and the mass of the Moon.

	[image: image143.wmf]  
	B.
	There is chemical attraction between the mass of Earth and the mass of the Moon.

	[image: image144.wmf]  
	C.
	There is gravitational attraction between the mass of Earth and the mass of the Moon.

	[image: image145.wmf]  
	D.
	There is magnetic attraction between the mass of Earth and the mass of the Moon.
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	Which of the following diagrams of a food web best indicates the flow of energy and how organisms obtain their food? 
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	A.
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	B.
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	C.
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	D.
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	Some plants depend on animals for which of the following? 

	 
	 
	 
	 
	 

	[image: image154.wmf]  
	A.
	water 

	[image: image155.wmf]  
	B.
	shelter 

	[image: image156.wmf]  
	C.
	seed dispersal 

	[image: image157.wmf]  
	D.
	photosynthesis 

	 


	Question 38 of 50

	Bottlenose dolphins have a sleek body shape, they often travel in pods. They often work in groups to hunt for food and they take turns eating fish. The bottlenose dolphins are best suited to survive in which of these ecosystems? 

	 
	 
	 
	 
	 

	[image: image158.wmf]  
	A.
	Shallow bays 

	[image: image159.wmf]  
	B.
	Alpine lakes 

	[image: image160.wmf]  
	C.
	Oceans 

	[image: image161.wmf]  
	D.
	Streams 
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	Which is the main difference between inner planets and an outer planets? 

	 
	 
	 
	 
	 

	[image: image162.wmf]  
	A.
	Outer planets do not have moons. 

	[image: image163.wmf]  
	B.
	Outer planets have shorter orbits around the sun. 

	[image: image164.wmf]  
	C.
	Inner planets are made of dense rock. 

	[image: image165.wmf]  
	D.
	Inner planets have asteroid belts that orbit around them. 
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	More evaporation happens when the surface of Earth becomes _________ 
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	A.
	cool 
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	B.
	warm 
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	C.
	dark 
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	D.
	still 
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	Which type of population is least likely to face extinction due to a change in climate? 
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	A.
	large birds 
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	B.
	small mammals 
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	C.
	land plants 
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	D.
	saltwater fish 
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	Which planet is most like Earth in size? 
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	A.
	Mercury 
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	B.
	Venus 
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	C.
	Jupiter 
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	D.
	Mars 
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	How do the particles in a liquid change when it becomes a gas? 
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	A.
	They spread out and move faster. 
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	B.
	They slow down and move slower. 
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	C.
	They vibrate back and forth. 
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	D.
	They stop moving completely. 
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	Which of the following scenarios does not show scientific evidence?
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	A.
	The existence of gravity by dropping an apple out of a second story window.

	[image: image183.wmf]  
	B.
	The existence of ghosts from a sighting by a psychic. 
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	C.
	The existence of the visible spectrum by using a prism.
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	D.
	The existence of thermal energy by water boiling. 
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	[image: image186.png]Number of Blooms on Hibiscus Plant

Plant with fertilizer 8 15 22 20 18 16
Plant without fertilizer 7 12 17 12 7 2
Week 1 Week2 | Week 3 Week 4 | Week 5 Week 6






	 

	Tammy has two hibiscus plants and is using fertilizer in one of the two plants to test if it will produce more blooms and keep blooming longer. Using the information in the table above, select the best prediction of number of blooms the plant with fertilizer will have in week 7 if the pattern continues.
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	A.
	20
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	B.
	18
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	C.
	16
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	D.
	14
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	Maria heard that a natural way to repel ants is to use a line of chalk. Maria conducts an experiment using two sugar cubes and drawing a heavy chalk line around one of the cubes. She leaves the other nearby without the chalk line to see how many ants come to each sugar cube. 

Which one of the following is the responding variable in this experiment?
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	A.
	ants
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	B.
	chalk
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	C.
	sugar cube
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	D.
	location
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	Which organism in the food web below is a decomposer? 
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	A.
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	B.
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	C.
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	D.
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A reduction in which organism will most likely cause an increase in the snail population? 
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	A.
	duckweed 

	[image: image206.wmf]  
	B.
	snails 
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	C.
	sunfish 
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	D.
	bass 
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	The term "nature's recyclers" best describes _________________.
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	A.
	producers
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	B.
	consumers
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	C.
	decomposers
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	D.
	carnivores
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	According to the energy pyramid above, in what correct sequential order does energy flow in an ecosystem? 
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	A.
	producers, primary consumers, secondary consumers, and tertiary consumers
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	B.
	tertiary consumers, secondary consumers, primary consumers, and producers
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	C.
	secondary consumers, producers, tertiary consumers, and primary consumers
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	D.
	primary consumers, secondary consumers, producers, and tertiary consumers 
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